Apparent Magnitude

1. ½ x Intensity of magnitude 6

2. 1/100 x Intensity of magnitude –10

3. 5 x Intensity of magnitude –4

4. 1/20 x Intensity of magnitude 8

5. 16 x Intensity of magnitude 3.4

6. Intensity of magnitude 2 compared with magnitude 7

7. Intensity of magnitude 4 compared with magnitude –6

8. Intensity of magnitude -10 compared with magnitude 5

9. Intensity of magnitude 8 compared with magnitude –6

10.  Intensity of magnitude –0.12 compared with magnitude 0.18

Apparent magnitude answers:

1. 6.75

2. –5

3. –5.75

4. 11.3

5. 0.39

6. 100

7. 1/10,000

8. 1,000,000

